C:# Dividiendo Numeros Enteros

Nombre:
Resuelve cada problema. Respuestas
1) 90+2= 2) 94+2 =
- - 1
2.
3.
3 801+9= 4) 28+6= 4.
5.
6.
7.
5 33+4= 6) 49+5=
8.
9.
10.
7) 750+5 = 8 970+5=
- 11.
12.
9 31+3= 10) 88+2=
11) 5O=2 = 12) 227+7 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividiendo NUmeros Enteros

Nombre: Clave De Respuestas

Resuelve cada problema.

1) 90=2= 45 2)
3 801+9= 89 4)
5 33+4=_ 8rl 6)
7) 750<5=_ 150 8)
9 31+3= 10r1 10)
11) 50:2= 25 12)

94:2= 47
28+6= 414
49+5= 9r4d
970+-5= 194
88+2=_ 44
227+7 =

3213

10.

11

12.

Respuestas

45

47

89

4r4

8rl

9r4

150

194

10r1

25

32r3
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